PROBLEMA
A la derecha 1
aparecen
representados
estos otro
complejos:

a) (0,2)

b) (1/2 +2i)

c) (1,0)

d) (-1/4,-

1/2i)
e) (-3/2,0)
f) (2-3/2i)

AUTOEVALUACION

Grafica de un Numero Complejo
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Representar
siguientes
complejos en el
plano cartesiano

a=(3,0)

b=(0,-4)

c=(0,4)
2. d=(-3,0)
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Representar
siguientes
complejos en el
plano cartesiano

z;=(v/3,1)
Zr= (0, \/E)
z3=(V/5,0)
4= (—\/g, _\/§)
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Representar
siguientes
complejos en el
plano cartesiano

Z1= (\/2_, \/gl)
Z)= (—ﬁ, \/El)
z3=(—V2,—V/3i)
z,=(V3,—-V20)
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c) (-2, 2i)
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Representar
siguientes
complejos en el
plano cartesiano

Z1=2
Zo=—2i
Z3=—2
Z4=21
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